EARAROBREBRT —5 XN—ZXBISH—F

202438208 (K) 190xH3H

I > %%

C37tt/\

\(9&1@1 n ‘[%EH%F&] ~ | & 10000 =

[AE%] 1 7% :800,000F  27&:320,000 M  337%&:200,000H” ~ 43:120,000H . 5 7&:80,000 M

RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
2Ry LYY F— i o6 7:?;983‘4& 1:46.9 1-1-1-1 | 43.9| - 3 | 489 %%(gﬂ%m(%;g)
: (=) - = 5
RIRITATAwIIAUT— BhFEF/NF (-4) =iatie]
<7 4 8 ?Z*gréﬂ 1:(47).3 9-9-8-7 |42.2| - 6 | 452 %igg C=:)
. 2 - 7l
RQU—RUVE BFPITUR D Ay
S5~ — 4 5 | EEEER 1:47.3 11-11-10-10| 41.8 | — 5 452 | BEAF (W)
%;ﬂ)—"g B:hLSEY K e ©e o BRI
. JIN— of. [==) Vi
YT RNR—T YT 4 7 gﬁl%ki 1:47.7 6-6-5-5 |42.8| — 2 46 | AREE (K3
. ) ¥ (B) =EE
RNSVEIR Ve AYLI—F @ D | o1
=5 S723= s 7 | THE 1:47.7 4-3-2-2 | 431 - 1 504 | AREEES (KH)
E-Ziﬁ%?mw”y 0 ) W |5 s
: : b L
33 — 4 7 | BHEE 1:47.7 3-4-4-3 | 43.1| — 4 477 | EEEIEE KH)
Ll (e 5.0 F5%) o | @ SiEnER
REVTFOVY B:XIORINA EE e
S, RTINS = 5 | SHE 1:47.8 12-12-9-9 | 42.4| - 10 | 464 |IZTEME (KH)
/i\'.j)_lfb';;i\;.;,w,\“ o v o | EESEE,
. or. [=} Vi
g w3 4 5 | BERER 1:48.3 8-7-11-11 | 42.8 | — | 11 | 472 |iESRAUR (K
/J\.J_ J‘JJ_I i e 56.0 2172 1) §IJ||1$9EE
R:koHoO—u IS0 74y N L3805
N t5 | MIBER 1:48.5  [13-13-12-12| 42.4 | — 9 | 482 |BTH k)
9|gl1sl ZO0¥T/T—IL -0 3/4) BOHA
RiVZAI—ZZRI— BN EVRILAR Q] TS
108l vzo—Fz 8 4 EJIA%.‘ 1:(4%.9 10-10-5-3 |43.9| — | 13 | 392 ;‘giﬂ%ué H)
: 2 ;
RANTT—IN BSRSvYIY ) |0 S
TIRIR A= o4 | ENES 1:619).9 5-5-7-8 |44.9| — | 8 | 4N Eéiﬁ% )
: 5 -]
RYRITS5IY BILF—T4—Y @) | Rk 2F—TI
= —J\ o7 | BREE 1:50.8 2-2-3-6 | 46.4| — 7 | 480 |ZEEAME (KFH)
12|57 ?’\_7’?_17}[{71 N A530 7 W) | @ FFas
R:NR—HNR B:YIITSANY HE &—
== # 4 | REEKS 1:50.9 7-8-13-13 | 44.7 | — 12 | 419 |EFBE KH)
13| 7(12| =7 54.0 (172) mpmy
RINZARSF—UF B:OAPILTITU— ) | gamEms
o 5 | XEBEZ — - - - - — | EER (KH)
EH 3 73/\|:|7°|j\|“* ) 56.0 (BH) (-) | _# YaTu—E3
RYNITSIY BiARIFE FrUEFYRTF—L
@ 11— —BRIEfI
13—7F— 5,7,10,6,1,4,12,2,8,13,9,11,14
20—F— 5,7,6,10,1,4,2,12,8,13,9,11,14
30—7F— 5,6,7,10, (4,13),1,8,11,9,2,14,12
40—F— 5,6,(10,13) ,4,7,8,1,11,9,2,14,12
o ILRE
BB 5 410 JA R 5-8 720/ & 4-5 690M 3ER 5-8-9 4,710M
B B 5 220 520) 660/ (=] 4-5 1,020 3Es 5-8-9 18,990M4
8 1509 8-9 710 B E 5-8 2,370
9 240 =51 5-8 3,620

ABIC OV TRUTEREERRODDZE. THRIIZEL.




